

Page 1 of 1

#### Florida Department of Transportation



Letting:

Vendor Ranking

Call Order: 001

Contract: E3U63

**District**: District 3 **Counties**: ESCAMBIA

June 09, 2022 02:00 pm

Fed Aid No: N/A

Contract Time: 455 AVAILABLE DAYS

03220609

**Project(s):** 43776415201 (\*)

Contract Desc: SR 10A (US 90) - RESURFACING

44409915201 43776415202

| Ran | k Vendor                         | Bid Type   | Bid Status      | Total Bid      | Percent Of<br>Low Bid |
|-----|----------------------------------|------------|-----------------|----------------|-----------------------|
| 1   | PANHANDLE GRADING & PAVING, INC. | Responsive | Winning bid     | \$7,526,959.85 | 100.00%               |
| 2   | C.W. ROBERTS CONTRACTING, INC.   | Responsive | Non-Winning Bid | \$7,994,380.01 | 106.21%               |
| 3   | ROADS, INC. OF NWF               | Responsive | Non-Winning Bid | \$8,888,888.88 | 118.09%               |

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY





#### **Tabulation of Bids**

Page 1 of 19

 Letting:
 03220609
 June 09, 2022
 Call Order:
 001
 Contract:
 E3U63

 District:
 District 3
 Counties:
 ESCAMBIA
 Fed Aid No:
 N/A

 Contract Time:
 455 AVAILABLE DAYS
 Project(s):
 43776415201 (\*)

 Contract Descr:
 SR 10A (US 90) - RESURFACING
 44409915201

43776415202

The Improvements under this District Contract consist of FPID 437764-1-52-0:1 milling and resurfacing, turn lane widening, intersection improvements, drainage, and signing and pavement markings along SR 10A (US 90) Mobile Highway from SR 10 (US 90A) 9MI Rd to west of SR 297, FPID 444099-1-52-01: milling and resurfacing, turn lane widening, intersection improvements, drainage, signing and pavement markings and signalization along SR 10 A (US 90) Mobile Highway at Klondike Road, and FPID 437764-1-52-02: utility work by highway contractor along SR 10A (US 90) Mobile Highway from SR 10 (US 90A) 9MI Rd to west of SR 297 in Escambia County, Florida. The summary of pay items for this project is listed in the Plans.

#### PRE-QUALIFICATION IS REQUIRED TO BID ON THIS PROJECT

| Line No / Item ID Alterna   | ate Quantity<br>Units | (1) PANHANDL<br>PAVINO |            | (2) C.W. R<br>CONTRAC |            | (3) ROADS,    | INC. OF NWF |
|---|-----------------------|------------------------|------------|-----------------------|------------|---------------|-------------|
| () indicates item is bid as Lump Sun                                | η                     | Unit Price             | Ext Amount | Unit Price            | Ext Amount | Unit Price    | Ext Amount  |
| SECTION: 0001   | Roadway               |                        |            |                       |            |               |             |
| 0005 0101 1<br>MOBILIZATION 43776415201                             | (1.000)<br>LS         | 415,350.00000          | 415,350.00 | 394,675.00000         | 394,675.00 | 652,681.84000 | 652,681.84  |
| 0010 0101 1<br>MOBILIZATION 44409915201                             | (1.000)<br>LS         | 130,000.00000          | 130,000.00 | 231,100.00000         | 231,100.00 | 452,048.55000 | 452,048.55  |
| 0015 0102 1<br>MAINTENANCE OF TRAFFIC<br>43776415201                | (455.000)<br>DA (LS)  | 435,000.00000          | 435,000.00 | 264,200.00000         | 264,200.00 | 372,877.90000 | 372,877.90  |
| 0020 0102 1<br>MAINTENANCE OF TRAFFIC<br>44409915201                | (455.000)<br>DA (LS)  | 138,000.00000          | 138,000.00 | 47,600.00000          | 47,600.00  | 174,514.96000 | 174,514.96  |
| 0025 0102 2200<br>SPECIAL DETOUR- TEMPORARY<br>PAVEMENT 43776415201 | (460.000)<br>SY (LS)  | 63,500.00000           | 63,500.00  | 27,400.00000          | 27,400.00  | 61,660.73000  | 61,660.73   |





# **Tabulation of Bids**

Page 2 of 19

| Letting:  | 03220609                                     | June 09, 2022           | Cal                    | II Order: 001 |                       | Contract:  | E3U63         |            |
|---|--|-------------------------|------------------------|---------------|-----------------------|------------|---------------|------------|
| Line No /   |  | rnate Quantity Units    | (1) PANHANDL<br>PAVINO |               | (2) C.W. R<br>CONTRAC |            | (3) ROADS, I  | NC. OF NWF |
| () indicates                                      | item is bid as Lump S                        | Sum                     | Unit Price             | Ext Amount    | Unit Price            | Ext Amount | Unit Price    | Ext Amount |
| SE  | CTION: 0001                                  | Roadway                 |                        |               |                       |            |               |            |
|   | 2 2200<br>TOUR- TEMPORAI<br>14409915201      | (304.000)<br>RY SY (LS) | 43,980.00000           | 43,980.00     | 26,400.00000          | 26,400.00  | 127,385.19000 | 127,385.19 |
| SPECIAL DE  | 2 2300<br>FOUR- TEMPORAI<br>K/BASE 437764152 | (,                      | 6,800.00000            | 6,800.00      | 44,500.00000          | 44,500.00  | 19,946.02000  | 19,946.02  |
| 0040 0102<br>COMMERCIA<br>TEMPORARY<br>MAINTENANG | L MATERIAL FOR<br>DRIVEWAY                   | 24.800<br>CY            | 250.00000              | 6,200.00      | 204.00000             | 5,059.20   | 297.73000     | 7,383.70   |
| 0045 0102<br>TRAFFIC CO                           | 2 14<br>NTROL OFFICER                        | 76.000<br>HR            | 95.00000               | 7,220.00      | 74.25000              | 5,643.00   | 78.44000      | 5,961.44   |
| 0050 0102<br>WORK ZONE                            |  | 69,625.000<br>ED        | 0.25000                | 17,406.25     | 0.25000               | 17,406.25  | 0.30000       | 20,887.50  |
| 0055 0102<br>BUSINESS S                           |  | 1.000<br>EA             | 111.11000              | 111.11        | 114.00000             | 114.00     | 137.61000     | 137.61     |
|   | 2 71 13<br>′ BARRIER, F&I, LO<br>NCRETE      | 1,620.000<br>OW LF      | 82.84000               | 134,200.80    | 49.25000              | 79,785.00  | 59.17000      | 95,855.40  |
| TEMPORARY   | 2 71 23<br>′ BARRIER, RELO<br>E CONCRETE     | 984.000<br>CATE, LF     | 47.30000               | 46,543.20     | 10.25000              | 10,086.00  | 12.39000      | 12,191.76  |





# **Tabulation of Bids**

Page 3 of 19

| Letting:  | 03220609  | June 09, 2022            | Cal                    | II Order: 001 |                       | Contract:  | E3U63      |                        |  |
|-----------|---|--------------------------|------------------------|---------------|-----------------------|------------|------------|------------------------|--|
|           | o / Item ID Alternate                                   | e Quantity<br>Units      | (1) PANHANDL<br>PAVINO |               | (2) C.W. R<br>CONTRAC |            | (3) ROADS, | (3) ROADS, INC. OF NWF |  |
| () indica | tes item is bid as Lump Sum                             |                          | Unit Price             | Ext Amount    | Unit Price            | Ext Amount | Unit Price | Ext Amount             |  |
| 5         | SECTION: 0001   | Roadway                  |                        |               |                       |            |            |                        |  |
|           | 102 74 1<br>IZING DEVICE- TYPES I,<br>, OR LCD          | 56,776.000<br>II, DI, ED | 0.12000                | 6,813.12      | 0.10000               | 5,677.60   | 0.12000    | 6,813.12               |  |
|           | 102 99<br>E CHANGEABLE MESSA(<br>IPORARY                | 940.000<br>GE ED         | 12.00000               | 11,280.00     | 12.00000              | 11,280.00  | 14.45000   | 13,583.00              |  |
| TEMPORA   | 102104<br>RY SIGNALIZATION AND<br>ANCE, INTERSECTION    | 455.000<br>ED            | 12.65000               | 5,755.75      | 12.50000              | 5,687.50   | 15.14000   | 6,888.70               |  |
| TEMPORA   | 102107 1<br>RY TRAFFIC DETECTION<br>TENANCE, INTERSECTI |                          | 11.11000               | 5,388.35      | 11.50000              | 5,577.50   | 13.76000   | 6,673.60               |  |
| 0090 0°   | 102115<br>ARRICADE                                      | 4.000<br>ED              | 5.00000                | 20.00         | 1.10000               | 4.40       | 1.38000    | 5.52                   |  |
| ARTIFICIA | 104 1<br>L COVERINGS /ROLLED<br>CONTROL PRODUCTS        | 287.000<br>SY            | 15.65000               | 4,491.55      | 23.75000              | 6,816.25   | 7.45000    | 2,138.15               |  |
| TEMPORA   | 104 6<br>RY SLOPE DRAIN / RUN<br>STRUCTURE              | 977.000<br>OFF LF        | 33.70000               | 32,924.90     | 42.25000              | 41,278.25  | 32.51000   | 31,762.27              |  |
|           | 104 10 3<br>Γ BARRIER                                   | 506.000<br>LF            | 4.00000                | 2,024.00      | 7.40000               | 3,744.40   | 2.68000    | 1,356.08               |  |
|           | 104 18<br>DTECTION SYSTEM                               | 15.000<br>EA             | 400.00000              | 6,000.00      | 344.00000             | 5,160.00   | 810.31000  | 12,154.65              |  |





# **Tabulation of Bids**

Page 4 of 19

| Letting:                              | 03220609             | June 09, 2022           | Cal                    | l Order: 001 |                       | Contract:  | E3U63         |             |
|---------------------------------------|----------------------|-------------------------|------------------------|--------------|-----------------------|------------|---------------|-------------|
| Line No / Iter                        |                      | te Quantity<br>Units    | (1) PANHANDL<br>PAVINO |              | (2) C.W. R<br>CONTRAC |            | (3) ROADS,    | INC. OF NWF |
|                                       | n is bid as Lump Sum |                         | Unit Price             | Ext Amount   | Unit Price            | Ext Amount | Unit Price    | Ext Amount  |
| SECT                                  | ON: 0001             | Roadway                 |                        |              |                       |            |               |             |
| 0115 0107 1<br>LITTER REMOV           | AL.                  | 1,386.000<br>AC         | 45.68000               | 63,312.48    | 28.50000              | 39,501.00  | 34.40000      | 47,678.40   |
| 0120 0107 2<br>MOWING                 |                      | 1,266.590<br>AC         | 35.00000               | 44,330.65    | 28.50000              | 36,097.82  | 34.40000      | 43,570.70   |
| 0125 0110 1<br>CLEARING & GI          | 1<br>RUBBING 4377641 | (1.500)<br>5201 AC (LS) | 118,718.00000          | 118,718.00   | 263,900.00000         | 263,900.00 | 262,023.13000 | 262,023.13  |
| 0130 0110 1<br>CLEARING & GI          | 1<br>RUBBING 4440991 | (2.020)<br>5201 AC (LS) | 136,553.00000          | 136,553.00   | 246,300.00000         | 246,300.00 | 95,448.93000  | 95,448.93   |
| 0135 0110 4<br>REMOVAL OF E           | 10<br>XISTING CONCRE | 126.000<br>ETE SY       | 85.00000               | 10,710.00    | 34.75000              | 4,378.50   | 51.02000      | 6,428.52    |
| 0140 0110 7<br>MAILBOX, F&I S         |                      | 5.000<br>EA             | 350.00000              | 1,750.00     | 189.00000             | 945.00     | 227.07000     | 1,135.35    |
| 0145 0120 1<br>REGULAR EXC            | VATION               | 3,698.000<br>CY         | 38.50000               | 142,373.00   | 36.50000              | 134,977.00 | 32.25000      | 119,260.50  |
| 0150 0120 2<br>BORROW EXCA<br>MEASURE | 2<br>VATION, TRUCK   | 502.100<br>CY           | 26.80000               | 13,456.28    | 46.25000              | 23,222.13  | 47.64000      | 23,920.04   |
| 0155 0160 4<br>TYPE B STABIL          | ZATION               | 6,399.000<br>SY         | 31.40000               | 200,928.60   | 30.25000              | 193,569.75 | 24.85000      | 159,015.15  |





## **Tabulation of Bids**

Page 5 of 19

| Letting        | g: 0   | 3220609                 | June 09, 2022         | Cal                    | l Order: 001 |                       | Contract:    | E3U63      |                        |  |
|----------------|--|-------------------------|-----------------------|------------------------|--------------|-----------------------|--------------|------------|------------------------|--|
|                | No / Item ID Description                     | Alterna                 | te Quantity<br>Units  | (1) PANHANDL<br>PAVINO |              | (2) C.W. R<br>CONTRAC |              | (3) ROADS, | (3) ROADS, INC. OF NWF |  |
|                | -  | id as Lump Sum          |                       | Unit Price             | Ext Amount   | Unit Price            | Ext Amount   | Unit Price | Ext Amount             |  |
|                | SECTION:                                     | 0001                    | Roadway               |                        |              |                       |              |            |                        |  |
| 0160<br>OPTION | 0285701<br>IAL BASE, BA                      | SE GROUP 0              | 1,056.000<br>1 SY     | 49.88000               | 52,673.28    | 37.25000              | 39,336.00    | 39.81000   | 42,039.36              |  |
| 0165<br>OPTION | 0285706<br>IAL BASE, BA                      | SE GROUP 0              | 3,990.000<br>6 SY     | 49.88000               | 199,021.20   | 44.25000              | 176,557.50   | 39.77000   | 158,682.30             |  |
|                |  | JCTION-<br>/ BASE- ASPH | 213.200<br>TN<br>HALT | 190.00000              | 40,508.00    | 230.00000             | 49,036.00    | 219.55000  | 46,808.06              |  |
|                | 0327 70 11<br>3 EXISTING A<br>ENT, 2 1/4" A\ |                         | 111,560.000<br>SY     | 2.80000                | 312,368.00   | 2.70000               | 301,212.00   | 1.93000    | 215,310.80             |  |
|                | 0327 70 12<br>G EXISTING A<br>ENT, 1 1/4" A\ |                         | 5,042.000<br>SY       | 2.60000                | 13,109.20    | 2.00000               | 10,084.00    | 1.76000    | 8,873.92               |  |
|                | 0327 70 19<br>3 EXISTING A<br>ENT, 3/4" AVC  |                         | 43,873.000<br>SY      | 2.00000                | 87,746.00    | 1.60000               | 70,196.80    | 1.39000    | 60,983.47              |  |
|                | 0327 70 20<br>G EXISTING A<br>ENT, 3 3/4" A\ |                         | 4,310.000<br>SY       | 4.85000                | 20,903.50    | 3.80000               | 16,378.00    | 3.03000    | 13,059.30              |  |
|                | 0334 1 52<br>PAVE ASPHA<br>C B, PG76-22      | LTIC CONCRI             | 10,514.400<br>ETE, TN | 122.50000              | 1,288,014.00 | 155.00000             | 1,629,732.00 | 164.72000  | 1,731,931.97           |  |





## **Tabulation of Bids**

Page 6 of 19

| Letting:          | 032                                       | 220609 ,                  | June 09, 2022           | Cal                    | l Order: 001 |                       | Contract:    | E3U63                  |              |
|-------------------|---|---------------------------|-------------------------|------------------------|--------------|-----------------------|--------------|------------------------|--------------|
|                   | lo / Item ID<br>Description               | Alternate                 | Quantity<br>Units       | (1) PANHANDL<br>PAVINO |              | (2) C.W. R<br>CONTRAC |              | (3) ROADS, INC. OF NWF |              |
|                   | ates item is bid                          | as Lump Sum               |                         | Unit Price             | Ext Amount   | Unit Price            | Ext Amount   | Unit Price             | Ext Amount   |
|                   | SECTION:                                  | 0001                      | Roadway                 |                        |              |                       |              |                        |              |
| ASPHALT           | 0337 780<br>CONCRETE<br>TRAFFICB, F       | FRICTION<br>FC-9.5, PG 76 | 11,593.200<br>TN<br>-22 | 134.50000              | 1,559,285.40 | 166.00000             | 1,924,471.20 | 168.96000              | 1,958,787.07 |
|                   | 0339 1<br>ANEOUS ASF                      | PHALT PAVEN               | 132.500<br>IENT TN      | 315.00000              | 41,737.50    | 317.00000             | 42,002.50    | 231.38000              | 30,657.85    |
|                   | 0425 1541<br>OT BOT, TYPE                 | E D, <10'                 | 10.000<br>EA            | 11,720.00000           | 117,200.00   | 8,200.00000           | 82,000.00    | 9,291.28000            | 92,912.80    |
|                   | 0425 5 1<br>E, ADJUST, U                  | ITILITIES                 | 1.000<br>EA             | 2,600.00000            | 2,600.00     | 1,800.00000           | 1,800.00     | 2,354.77000            | 2,354.77     |
|                   | 0425 6<br>OXES, ADJUS                     | ST                        | 16.000<br>EA            | 1,125.00000            | 18,000.00    | 608.00000             | 9,728.00     | 776.52000              | 12,424.32    |
| 0225 (<br>REPLACE | 0425 82<br>E GRATE                        |                           | 1.000<br>EA             | 2,225.25000            | 2,225.25     | 3,800.00000           | 3,800.00     | 2,285.43000            | 2,285.43     |
|                   |   | DNAL MATERI               | 239.000<br>AL, LF       | 144.87000              | 34,623.93    | 101.00000             | 24,139.00    | 131.31000              | 31,383.09    |
| PIPE CUL          | 0430175118<br>.VERT,OPTIO<br>.L,ROUND, 18 |                           | 592.000<br>LF           | 144.87000              | 85,763.04    | 114.00000             | 67,488.00    | 131.30000              | 77,729.60    |
| PIPE CUL          | 0430175124<br>.VERT,OPTIO<br>.L,ROUND, 24 |                           | 248.000<br>LF           | 213.51000              | 52,950.48    | 136.00000             | 33,728.00    | 169.19000              | 41,959.12    |





# **Tabulation of Bids**

Page 7 of 19

| Letting                 | <b>y:</b> 00                              | 3220609 Ju                    | une 09, 2022       | Cal                    | l Order: 001 |                       | Contract:  | E3U63       |             |
|-------------------------|---|-------------------------------|--------------------|------------------------|--------------|-----------------------|------------|-------------|-------------|
|                         | No / Item ID Description                  | Alternate                     | Quantity<br>Units  | (1) PANHANDL<br>PAVINO |              | (2) C.W. R<br>CONTRAC |            | (3) ROADS,  | INC. OF NWF |
| () ind                  | licates item is bi                        | d as Lump Sum                 |                    | Unit Price             | Ext Amount   | Unit Price            | Ext Amount | Unit Price  | Ext Amount  |
|                         | SECTION:                                  | 0001 F                        | Roadway            |                        |              |                       |            |             |             |
|                         | 0430175218<br>JLVERT,OPTI<br>IAL,OTHER-EI | ONAL<br>LIP/ARCH, 18"S/       | 41.000<br>LF<br>CD | 227.55000              | 9,329.55     | 213.00000             | 8,733.00   | 214.06000   | 8,776.46    |
| 0250<br>MITERE<br>ROUND |   | ION, OPTIONAL                 | 4.000<br>EA        | 3,000.00000            | 12,000.00    | 2,500.00000           | 10,000.00  | 2,469.33000 | 9,877.32    |
| 0255<br>MITERE<br>ROUND |   | ION, OPTIONAL                 | 1.000<br>EA        | 3,500.00000            | 3,500.00     | 4,300.00000           | 4,300.00   | 2,831.62000 | 2,831.62    |
|                         | 0430982625<br>D END SECT<br>CAL / ARCH,   | ION, OPTIONAL<br>18" CD       | 1.000<br>- EA      | 4,500.00000            | 4,500.00     | 4,300.00000           | 4,300.00   | 3,200.19000 | 3,200.19    |
| 0265<br>MITERE<br>ROUND |   | ION, OPTIONAL                 | 52.000<br>EA       | 3,000.00000            | 156,000.00   | 2,600.00000           | 135,200.00 | 2,469.33000 | 128,405.16  |
| 0270<br>MITERE<br>ROUND |   | ION, OPTIONAL                 | 2.000<br>EA        | 3,500.00000            | 7,000.00     | 3,500.00000           | 7,000.00   | 2,831.62000 | 5,663.24    |
|                         | 0430984625<br>D END SECT<br>CAL / ARCH,   | , OPTIONAL <b>-</b><br>18" SD | 1.000<br>EA        | 4,500.00000            | 4,500.00     | 3,500.00000           | 3,500.00   | 3,414.19000 | 3,414.19    |
|                         | 0430984629<br>D END SECT<br>CAL / ARCH, 2 |                               | 1.000<br>EA        | 6,500.00000            | 6,500.00     | 5,500.00000           | 5,500.00   | 4,355.62000 | 4,355.62    |





# **Tabulation of Bids**

Page 8 of 19

| Letting        | g: 0322   | 20609 Ju     | ne 09, 2022                  | Cal                    | l Order: 001 |                       | Contract:  | E3U63       |             |
|----------------|---|--------------|------------------------------|------------------------|--------------|-----------------------|------------|-------------|-------------|
|                | No / Item ID<br>Description                           | Alternate    | Quantity<br>Units            | (1) PANHANDL<br>PAVING |              | (2) C.W. R<br>CONTRAC |            | (3) ROADS,  | INC. OF NWF |
| () ind         | licates item is bid as                                | Lump Sum     |                              | Unit Price             | Ext Amount   | Unit Price            | Ext Amount | Unit Price  | Ext Amount  |
|                | SECTION: 00   | 001 Ro       | oadway                       |                        |              |                       |            |             |             |
|                | 0458 121<br>EDECK EXPANSI<br>ILITATION, POUF<br>R ROD |              | 214.000<br>LF<br>TH          | 53.97000               | 11,549.58    | 56.00000              | 11,984.00  | 67.43000    | 14,430.02   |
|                | 0458 2<br>ER NOSING FOR<br>BION JOINT                 | BRIDGE DEC   | 36.100<br>K CF               | 869.23000              | 31,379.20    | 903.00000             | 32,598.30  | 1,087.19000 | 39,247.56   |
| 0295<br>CONCR  | 0520 1 10<br>ETE CURB & GU                            | TTER, TYPE F | 259.000<br>LF                | 72.13000               | 18,681.67    | 42.00000              | 10,878.00  | 38.53000    | 9,979.27    |
|                | 0522 2<br>ETE SIDEWALK<br>VAYS, 6" THICK              | AND          | 102.000<br>SY                | 105.00000              | 10,710.00    | 149.00000             | 15,198.00  | 96.33000    | 9,825.66    |
|                | 0524 1 2<br>ETE DITCH PAVI<br>PRCED, 4"               | EMENT, NON   | 39.000<br>SY                 | 175.00000              | 6,825.00     | 175.00000             | 6,825.00   | 92.20000    | 3,595.80    |
| 0310<br>RIPRAP | 0530 3 4<br>, RUBBLE, F&I, D                          | DITCH LINING | 4.000<br>TN                  | 1,000.00000            | 4,000.00     | 534.00000             | 2,136.00   | 372.97000   | 1,491.88    |
| 0315<br>BEDDIN | 0530 74<br>IG STONE                                   |              | 2.800<br>TN                  | 1,000.00000            | 2,800.00     | 411.00000             | 1,150.80   | 372.97000   | 1,044.32    |
| 0320<br>GUARDI | 0536 1 1<br>RAIL -ROADWAY                             | ′, GENERAL T | 1,646.000<br>L <b>-</b> 3 LF | 32.83000               | 54,038.18    | 38.25000              | 62,959.50  | 41.08000    | 67,617.68   |





## **Tabulation of Bids**

Page 9 of 19

| Letting:              | 03220609  | June 09, 2022           | Cal                    | l Order: 001 |                       | Contract:  | E3U63       |                       |  |
|-----------------------|---|-------------------------|------------------------|--------------|-----------------------|------------|-------------|-----------------------|--|
| Line No /             |   | rnate Quantity<br>Units | (1) PANHANDL<br>PAVINO |              | (2) C.W. R<br>CONTRAC |            | (3) ROADS,  | 3) ROADS, INC. OF NWF |  |
| () indicate.          | s item is bid as Lump   |                         | Unit Price             | Ext Amount   | Unit Price            | Ext Amount | Unit Price  | Ext Amount            |  |
| SE                    | ECTION: 0001  | Roadway                 |                        |              |                       |            |             |                       |  |
| SPECIAL GU            | 36 7 3<br>JARDRAIL POST- E<br>SHALLOW MOUNT                   | 1.000<br>INCASED EA     | 935.12000              | 935.12       | 131.00000             | 131.00     | 1,169.75000 | 1,169.75              |  |
| GUARDRAIL             | 86 8122<br>- TRANSITION CON<br>ARRIER, F&I- INDEX<br>ACH TL-3 |                         | 4,345.00000            | 8,690.00     | 3,200.00000           | 6,400.00   | 5,435.93000 | 10,871.86             |  |
| GUARDRAIL             | 86 8123<br>. TRANSITION CON<br>ARRIER, F&I- INDE:<br>NG       |                         | 2,145.00000            | 4,290.00     | 3,200.00000           | 6,400.00   | 2,683.56000 | 5,367.12              |  |
| 0340 053<br>GUARDRAIL | 36 73<br>. REMOVAL  | 1,656.000<br>LF         | 5.00000                | 8,280.00     | 4.00000               | 6,624.00   | 5.50000     | 9,108.00              |  |
|                       | 36 85 20<br>. END TREATMENT<br>NCHORAGE                       | 2.000<br>- EA           | 2,035.11000            | 4,070.22     | 2,100.00000           | 4,200.00   | 2,545.94000 | 5,091.88              |  |
| GUARDRAIL             | 86 85 24<br>. END TREATMENT<br>APPROACH TERMI                 |                         | 3,575.02000            | 7,150.04     | 4,300.00000           | 8,600.00   | 4,472.59000 | 8,945.18              |  |
| RETAINING             | I8 13<br>WALL<br>MPORARY, EXCLU                               | 50.000<br>SF<br>IDING   | 50.00000               | 2,500.00     | 76.75000              | 3,837.50   | 283.10000   | 14,155.00             |  |
|                       | 70 1 2<br>NCE TURF, SOD                                       | 28,702.000<br>SY        | 3.50000                | 100,457.00   | 2.70000               | 77,495.40  | 3.10000     | 88,976.20             |  |





# **Tabulation of Bids**

Page 10 of 19

| Letting:              | 03220609 Ju  | ne 09, 2022         | Cal                    | II Order: 001          |                       | Contract:  | E3U63       |             |
|-----------------------|--|---------------------|------------------------|------------------------|-----------------------|------------|-------------|-------------|
|                       | / Item ID Alternate  | Quantity<br>Units   | (1) PANHANDL<br>PAVINO | E GRADING &<br>G, INC. | (2) C.W. R<br>CONTRAC |            | (3) ROADS,  | INC. OF NWF |
| () indicat            | tes item is bid as Lump Sum  |                     | Unit Price             | Ext Amount             | Unit Price            | Ext Amount | Unit Price  | Ext Amount  |
| S                     | SECTION: 0001 R  | oadway              |                        |                        |                       |            |             |             |
|                       | 706 1 3<br>AVEMENT MARKER, TYPE  | 4,217.000<br>B EA   | 3.86000                | 16,277.62              | 4.00000               | 16,868.00  | 4.82000     | 20,325.94   |
| PAINTED P             | 710 11101<br>PAVEMENT MARKINGS,<br>D, WHITE, SOLID, 6"                             | 18.559<br>GM        | 999.00000              | 18,540.44              | 1,000.00000           | 18,559.00  | 1,238.56000 | 22,986.44   |
| PAINTED P<br>STANDARD | 710 11123<br>PAVEMENT MARKINGS,<br>D, WHITE, SOLID FOR<br>ILK AND ROUNDABOUT, 12   | 633.000<br>LF       | 1.68000                | 1,063.44               | 1.70000               | 1,076.10   | 2.06000     | 1,303.98    |
| PAINTED P             | 710 11124<br>PAVEMENT MARKINGS,<br>D, WHITE, SOLID FOR<br>. OR CHEVRON, 18"        | 319.000<br>LF       | 2.48000                | 791.12                 | 2.60000               | 829.40     | 3.10000     | 988.90      |
| PAINTED P<br>STANDARE | 710 11125<br>PAVEMENT MARKINGS,<br>D, WHITE, SOLID FOR STO<br>ROSSWALK, 24"        | 947.000<br>LF<br>PP | 3.33000                | 3,153.51               | 3.40000               | 3,219.80   | 4.13000     | 3,911.11    |
| PAINTED P             | 710 11141<br>PAVEMENT MARKINGS,<br>D, WHITE, 2-4 DOTTED<br>E/ 6-10 DOTTED EXTENSIO | 0.764<br>GM<br>N,   | 715.10000              | 546.34                 | 739.00000             | 564.60     | 894.52000   | 683.41      |
| PAINTED P             | 710 11160<br>PAVEMENT MARKINGS,<br>D, WHITE, MESSAGE OR                            | 9.000<br>EA         | 55.55000               | 499.95                 | 57.25000              | 515.25     | 68.81000    | 619.29      |





## **Tabulation of Bids**

Page 11 of 19

| Letting           | j: 00                                     | 3220609                                  | June 09, 2022       | Cal                    | Il Order: 001  |                       | Contract:      | E3U63        |                |
|-------------------|---|--|---------------------|------------------------|----------------|-----------------------|----------------|--------------|----------------|
|                   | No / Item ID<br>Description               | Alternat                                 | e Quantity<br>Units | (1) PANHANDL<br>PAVINO |                | (2) C.W. R<br>CONTRAC |                | (3) ROADS,   | INC. OF NWF    |
| () indi           | icates item is bi                         | d as Lump Sum                            |                     | Unit Price             | Ext Amount     | Unit Price            | Ext Amount     | Unit Price   | Ext Amount     |
|                   | SECTION:                                  | 0001                                     | Roadway             |                        |                |                       |                |              |                |
| PAINTED           | 0710 11170<br>D PAVEMENT<br>ARD, WHITE, A | -<br>MARKINGS,<br>ARROWS                 | 99.000<br>EA        | 33.33000               | 3,299.67       | 34.25000              | 3,390.75       | 41.28000     | 4,086.72       |
| PAINTED           | 0710 11201<br>D PAVEMENT<br>ARD, YELLOW   | MARKINGS,<br>/, SOLID, 6"                | 17.473<br>GM        | 999.00000              | 17,455.53      | 1,000.00000           | 17,473.00      | 1,238.56000  | 21,641.36      |
| PAINTED<br>STANDA |   | MARKINGS,<br>/, SOLID FOR<br>RON, 18"    | 1,736.000<br>LF     | 2.49000                | 4,322.64       | 2.60000               | 4,513.60       | 3.10000      | 5,381.60       |
| PAINTED           | 0710 11231<br>D PAVEMENT<br>ARD, YELLOW   | MARKINGS,<br>/, SKIP, 6"                 | 1.250<br>GM         | 715.10000              | 893.88         | 743.00000             | 928.75         | 894.52000    | 1,118.15       |
| PAINTED<br>STANDA | RD, YELLOW                                | MARKINGS,<br>/, 2-4 DOTTEI<br>TED EXTENS |                     | 715.10000              | 26.46          | 602.00000             | 22.27          | 894.52000    | 33.10          |
| INITIAL C         | 0999 25<br>CONTINGEN<br>0 4377641520      | CY AMOUNT, I<br>1                        | (1.000)<br>DO LS    | 68,777.35000           | 68,777.35      | 68,777.35000          | 68,777.35      | 68,777.35000 | 68,777.35      |
| INITIAL           | 0999 25<br>CONTINGENO<br>0 4440991520     | CY AMOUNT, I<br>1                        | (1.000)<br>DO LS    | 22,034.49000           | 22,034.49      | 22,034.49000          | 22,034.49      | 22,034.49000 | 22,034.49      |
|                   | 000                                       | 1 Roadway S                              | ection Totals:      |                        | \$6,817,237.82 |                       | \$7,258,497.41 |              | \$8,002,904.46 |





# **Tabulation of Bids**

Page 12 of 19

| Letting:  | 3220609         | June 09, 2022       | Cal                                  | l Order: 001 |                       | Contract:  | E3U63                  |            |
|---|-----------------|---------------------|--------------------------------------|--------------|-----------------------|------------|------------------------|------------|
| Line No / Item ID Item Description                      |                 | e Quantity<br>Units | (1) PANHANDLE GRADING & PAVING, INC. |              | (2) C.W. R<br>CONTRAC |            | (3) ROADS, INC. OF NWF |            |
| () indicates item is l                                  | bid as Lump Sum |                     | Unit Price                           | Ext Amount   | Unit Price            | Ext Amount | Unit Price             | Ext Amount |
| SECTION:  | 0002            | Signing             |                                      |              |                       |            |                        |            |
| 0435 0700 1 11<br>SINGLE POST SIGN<br>MOUNT, UP TO 12 S |                 | 77.000<br>AS        | 444.44000                            | 34,221.88    | 457.00000             | 35,189.00  | 550.47000              | 42,386.19  |
| 0440 0700 1 12<br>SINGLE POST SIGN<br>MOUNT, 12-20 SF   | , F&I GROUND    | 3.000<br>AS         | 1,760.00000                          | 5,280.00     | 1,800.00000           | 5,400.00   | 2,201.89000            | 6,605.67   |
| 0445 0700 1 50<br>SINGLE POST SIGN                      | , RELOCATE      | 5.000<br>AS         | 77.77000                             | 388.85       | 80.00000              | 400.00     | 96.33000               | 481.65     |
| 0450 0700 1 60<br>SINGLE POST SIGN                      | , REMOVE        | 53.000<br>AS        | 22,22000                             | 1,177.66     | 22.75000              | 1,205.75   | 27.52000               | 1,458.56   |
| 0455 0700 2 13<br>MULTI- POST SIGN,<br>MOUNT, 21-30 SF  | F&I GROUND      | 1.000<br>AS         | 5,555.55000                          | 5,555.55     | 5,700.00000           | 5,700.00   | 6,880.92000            | 6,880.92   |
| 0460 0700 2 14<br>MULTI- POST SIGN,<br>MOUNT, 31-50 SF  | F&I GROUND      | 2.000<br>AS         | 8,888.88000                          | 17,777.76    | 9,100.00000           | 18,200.00  | 11,009.46000           | 22,018.92  |
| 0465 0700 3101<br>SIGN PANEL, FURN<br>GROUND MOUNT, U   |                 | 1.000<br>EA         | 165.00000                            | 165.00       | 171.00000             | 171.00     | 206.43000              | 206.43     |
| 0470 0700 3601<br>SIGN PANEL, REMC                      | OVE, UP TO 12 S | 1.000 SF EA         | 75.00000                             | 75.00        | 114.00000             | 114.00     | 103.21000              | 103.21     |





# **Tabulation of Bids**

Page 13 of 19

| Letting            | g: 0                        | 3220609 J                   | lune 09, 2022     | Cal                    | l Order: 001 |                       | Contract:  | E3U63        |             |
|--------------------|-----------------------------|-----------------------------|-------------------|------------------------|--------------|-----------------------|------------|--------------|-------------|
|                    | No / Item ID                | Alternate                   | Quantity<br>Units | (1) PANHANDL<br>PAVING |              | (2) C.W. R<br>CONTRAC |            | (3) ROADS,   | INC. OF NWF |
| () inc             | dicates item is bi          | id as Lump Sum              |                   | Unit Price             | Ext Amount   | Unit Price            | Ext Amount | Unit Price   | Ext Amount  |
|                    | SECTION:                    | 0002                        | Signing           |                        |              |                       |            |              |             |
| 0475               | 0701 18101                  |                             | 4.727             | 6,271.00000            | 29,643.02    | 6,500.00000           | 30,725.50  | 7,844.24000  | 37,079.72   |
|                    | IOPLASTIC,ST                | 「ANDARD-<br>S, WHITE, SOLII | GM  <br>D,6"      |                        |              |                       |            |              |             |
| 0480               | 0701 18201                  |                             | 3.578             | 6,271.00000            | 22,437.64    | 6,500.00000           | 23,257.00  | 7,844.24000  | 28,066.69   |
|                    | IOPLASTIC,ST                |                             | GM                |                        |              |                       |            |              |             |
| 0485               | 0705 10 1                   |                             | 45.000            | 222.22000              | 9,999.90     | 229.00000             | 10,305.00  | 275.24000    | 12,385.80   |
| OBJEC <sup>-</sup> | T MARKER, T                 | YPE 1                       | EA                |                        |              |                       |            |              |             |
| 0490               | 0706 1 3                    |                             | 2,783.000         | 3.58000                | 9,963.14     | 3.70000               | 10,297.10  | 4.47000      | 12,440.01   |
| RAISED             | PAVEMENT                    | MARKER, TYPE                | B EA              |                        |              |                       |            |              |             |
| 0495               | 0710 90                     |                             | (1.000)           | 41,792.85000           | 41,792.85    | 43,400.00000          | 43,400.00  | 52,286.00000 | 52,286.00   |
|                    | ED PAVEMENT<br>CE 437764152 | Γ MARKINGS, FI<br>201       | INAL LS           |                        |              |                       |            |              |             |
| 0500               | 0710 90                     |                             | (1.000)           | 3,333.33000            | 3,333.33     | 3,500.00000           | 3,500.00   | 4,170.18000  | 4,170.18    |
|                    | D PAVEMENT<br>CE 444099152  | Γ MARKINGS, FI<br>201       | INAL LS           |                        |              |                       |            |              |             |
| 0505               | 0711 11123                  |                             | 633.000           | 4.44000                | 2,810.52     | 4.60000               | 2,911.80   | 5.50000      | 3,481.50    |
| SOLID,             |                             | TANDARD, WHI<br>SSWALK AND  | TE, LF            |                        |              |                       |            |              |             |
| 0510               | 0711 11124                  |                             | 319.000           | 5.55000                | 1,770.45     | 5.70000               | 1,818.30   | 6.88000      | 2,194.72    |
|                    | 18" FOR DIAC                | TANDARD, WHI<br>SONALS AND  | TE, LF            |                        |              |                       |            |              |             |





# **Tabulation of Bids**

Page 14 of 19

| Letting                | g: 03  | 3220609 Jur                    | ne 09, 2022       | Cal                                  | l Order: 001 |                                       | Contract:  | E3U63                  |            |
|------------------------|--|--------------------------------|-------------------|--------------------------------------|--------------|---------------------------------------|------------|------------------------|------------|
|                        | No / Item ID Description                               | Alternate                      | Quantity<br>Units | (1) PANHANDLE GRADING & PAVING, INC. |              | (2) C.W. ROBERTS<br>CONTRACTING, INC. |            | (3) ROADS, INC. OF NWF |            |
| () ina                 | dicates item is bid                                    | d as Lump Sum                  |                   | Unit Price                           | Ext Amount   | Unit Price                            | Ext Amount | Unit Price             | Ext Amount |
|                        | SECTION:   | 0002 Si                        | gning             | _                                    |              | _                                     |            |                        |            |
|                        | 24" FOR STOP   | TANDARD, WHITE<br>P LINE AND   | 755.000<br>E, LF  | 6.67000                              | 5,035.85     | 6.90000                               | 5,209.50   | 8.26000                | 6,236.30   |
| 2-4 DOT                | 0711 11141<br>OPLASTIC, ST<br>TTED GUIDELI<br>SION, 6" | ΓANDARD, WHITE<br>NE/ 6-10 GAP | 0.638<br>E, GM    | 3,333.00000                          | 2,126.45     | 3,400.00000                           | 2,169.20   | 4,128.55000            | 2,634.01   |
|                        | 0711 11160<br>OPLASTIC, ST<br>GE OR SYMBO              | FANDARD, WHITE<br>OL           | 7.000<br>E, EA    | 132.00000                            | 924.00       | 137.00000                             | 959.00     | 165.15000              | 1,156.05   |
| 0530<br>THERM<br>ARROW |  | ΓANDARD, WHITE                 | 94.000<br>E, EA   | 71.89000                             | 6,757.66     | 74.25000                              | 6,979.50   | 89.45000               | 8,408.30   |
|                        |  | FANDARD,<br>FOR DIAGONAL       | 1,736.000<br>LF   | 3,33000                              | 5,780.88     | 3.40000                               | 5,902.40   | 4.13000                | 7,169.68   |
|                        | 0711 14125<br>OPLASTIC, PF<br>SOLID, 24" F             | REFORMED,<br>OR CROSSWALK      | 522.000<br>LF     | 14.30000                             | 7,464.60     | 14.75000                              | 7,699.50   | 17.89000               | 9,338.58   |
|                        | 0711 14160<br>OPLASTIC, PF<br>MESSAGE                  | REFORMED,                      | 14.000<br>EA      | 132.00000                            | 1,848.00     | 137.00000                             | 1,918.00   | 165.15000              | 2,312.10   |
|                        | 0711 14170<br>OPLASTIC, PF<br>ARROW                    | REFORMED,                      | 13.000<br>EA      | 132.00000                            | 1,716.00     | 137.00000                             | 1,781.00   | 165.15000              | 2,146.95   |





# **Tabulation of Bids**

Page 15 of 19

| Letting      | <b>g</b> : 0                             | 3220609 J                                | une 09, 2022      | Cal                    | l Order: 001 |                       | Contract:  | E3U63        |             |
|--------------|--|--|-------------------|------------------------|--------------|-----------------------|------------|--------------|-------------|
|              | No / Item ID Description                 | Alternate                                | Quantity<br>Units | (1) PANHANDL<br>PAVING |              | (2) C.W. R<br>CONTRAC |            | (3) ROADS,   | INC. OF NWF |
| () inc       | dicates item is b                        | id as Lump Sum                           |                   | Unit Price             | Ext Amount   | Unit Price            | Ext Amount | Unit Price   | Ext Amount  |
|              | SECTION:                                 | 0002                                     | Signing           |                        |              |                       |            |              |             |
|              | 0711 16101<br>OPLASTIC, S<br>CES, WHITE, | TANDARD-OTH<br>SOLID, 6"                 | 11.525<br>ER GM   | 4,290.00000            | 49,442.25    | 4,500.00000           | 51,862.50  | 5,367.11000  | 61,855.94   |
|              | 0711 16102<br>OPLASTIC, S<br>CES, WHITE, | TANDARD-OTH<br>SOLID, 8"                 | 0.114<br>ER GM    | 6,650.00000            | 758.10       | 6,600.00000           | 752.40     | 8,257.10000  | 941.31      |
| SURFA        |  | TANDARD-OTH<br>SKIP, 6",10-30 S          |                   | 2,420.00000            | 256.52       | 2,400.00000           | 254.40     | 3,027.60000  | 320.93      |
|              | 0711 16201<br>OPLASTIC, S<br>CES, YELLOV | TANDARD-OTH<br>V, SOLID, 6"              | 11.586<br>ER GM   | 4,290.00000            | 49,703.94    | 4,500.00000           | 52,137.00  | 5,367.11000  | 62,183.34   |
|              | 0711 16231<br>OPLASTIC, S<br>CES, YELLOV | TANDARD-OTH<br>V, SKIP, 6"               | 1.250<br>ER GM    | 2,529.00000            | 3,161.25     | 2,600.00000           | 3,250.00   | 3,163.84000  | 3,954.80    |
| <b>THERM</b> | OPLASTIC PA                              | EMOVE EXISTII<br>AVEMENT<br>CE TO REMAIN | 701.000<br>NG SF  | 2.22000                | 1,556.22     | 2.30000               | 1,612.30   | 2.75000      | 1,927.75    |
|              | 0713103101<br>NENT TAPE,<br>DNCRETE BR   | WHITE, SOLID,                            | 0.132<br>6" GM    | 19,800.00000           | 2,613.60     | 20,300.00000          | 2,679.60   | 24,771.29000 | 3,269.81    |
|              | 0713103201<br>NENT TAPE,<br>DNCRETE BR   | YELLOW, SOLI                             | 0.132<br>D, 6" GM | 19,800.00000           | 2,613.60     | 20,300.00000          | 2,679.60   | 24,771.29000 | 3,269.81    |





ELECTRICAL SERVICE DISCONNECT, F&I, POLE MOUNT

PRESTRESSED CONCRETE POLE, F&I,

0641 2 12

TYPE P-II SERVICE POLE

0625

EΑ

1.000

EΑ

1,322.00000

#### **Tabulation of Bids**

Page 16 of 19

| Letting:   | 03220609                          | June 09, 2022              | Cal                    | l Order: 001 |                       | Contract:    | E3U63       |              |
|--|-----------------------------------|----------------------------|------------------------|--------------|-----------------------|--------------|-------------|--------------|
| Line No / Item Descri                                    |                                   | ate Quantity<br>Units      | (1) PANHANDL<br>PAVINO |              | (2) C.W. R<br>CONTRAC |              | (3) ROADS,  | INC. OF NWF  |
| () indicates it  | tem is bid as Lump Sui            | m                          | Unit Price             | Ext Amount   | Unit Price            | Ext Amount   | Unit Price  | Ext Amount   |
| SEC  | TION: 0002<br>0002 Signing        | Signing<br>Section Totals: |                        | \$328,151.47 |                       | \$340,440.35 |             | \$409,371.83 |
| SEC  | TION: 0003                        | Signalization              |                        |              |                       |              |             |              |
| 0595 0630<br>CONDUIT, FUF<br>TRENCH                      | 2 11<br>RNISH & INSTALL,          | 55.000<br>OPEN LF          | 22.12000               | 1,216.60     | 22.75000              | 1,251.25     | 27.52000    | 1,513.60     |
| 0600 0630<br>CONDUIT, FUR<br>DIRECTIONAL                 | RNISH & INSTALL,                  | 180.000<br>LF              | 30.81000               | 5,545.80     | 32.00000              | 5,760.00     | 38.53000    | 6,935.40     |
| 0605 0632<br>SIGNAL CABLI<br>RECONSTRUC<br>FURNISH & IN: | E- NEW OR<br>CTED INTERSECTION    | 1.000<br>PI<br>ON,         | 4,401.00000            | 4,401.00     | 4,600.00000           | 4,600.00     | 5,504.73000 | 5,504.73     |
| 0610 0635<br>PULL & SPLICI<br>COVER SIZE                 | 2 11<br>E BOX, F&I, 13" x 2       | 4.000<br>4" EA             | 764.50000              | 3,058.00     | 794.00000             | 3,176.00     | 956.44000   | 3,825.76     |
|  | POWER SERVICE,<br>ND, METER PURCH |                            | 2,310.00000            | 2,310.00     | 2,400.00000           | 2,400.00     | 2,889.98000 | 2,889.98     |
| 0620 0639  | 3 11                              | 1.000                      | 1,151.00000            | 1,151.00     | 1,100.00000           | 1,100.00     | 1,376.18000 | 1,376.18     |

1,322.00

1,400.00000

1,400.00

1,651.42000

1,651.42





## **Tabulation of Bids**

Page 17 of 19

| Letting:   | 03220609 Ju                              | ne 09, 2022       | Cal                    | l Order: 001 |                       | Contract:  | E3U63         |             |
|--|--|-------------------|------------------------|--------------|-----------------------|------------|---------------|-------------|
| Line No / Item I   |  | Quantity<br>Units | (1) PANHANDL<br>PAVING |              | (2) C.W. R<br>CONTRAC |            | (3) ROADS,    | INC. OF NWF |
| () indicates item is   | s bid as Lump Sum                        |                   | Unit Price             | Ext Amount   | Unit Price            | Ext Amount | Unit Price    | Ext Amount  |
| SECTION  | l: 0003 S                                | ignalization      |                        |              |                       |            |               |             |
| 0630 0649 21 1<br>STEEL MAST ARM<br>AND INSTALL, SIN                   | ASSEMBLY, FURN                           | 1.000<br>ISH EA   | 90,202.00000           | 90,202.00    | 93,700.00000          | 93,700.00  | 112,846.99000 | 112,846.99  |
| 0635 0649 21 2<br>STEEL MAST ARM<br>AND INSTALL, SIN                   | ASSEMBLY, FURN                           | 1.000<br>ISH EA   | 106,700.00000          | 106,700.00   | 110,900.00000         | 110,900.00 | 133,489.73000 | 133,489.73  |
| 0640 0650 1 14<br>VEHICULAR TRAF<br>FURNISH & INSTA<br>SECTION, 1 WAY  | FIC SIGNAL,                              | 10.000<br>AS      | 1,377.00000            | 13,770.00    | 1,400.00000           | 14,000.00  | 1,720.23000   | 17,202.30   |
| 0645 0650 210 VEHICULAR SIGNA REPAIR/REPLACE & INSTALL, BACKE REQUIRED | AL AUXILIARIES,<br>/RETROFIT- FURNI      | 8.000<br>EA<br>SH | 333.00000              | 2,664.00     | 343.00000             | 2,744.00   | 412.85000     | 3,302.80    |
| 0650 0660 4 12<br>VEHICLE DETECT<br>FURNISH & INSTA<br>EQUIPMENT       | ON SYSTEM- VIDE                          | 2.000<br>O, EA    | 30,800.00000           | 61,600.00    | 32,000.00000          | 64,000.00  | 38,533.11000  | 77,066.22   |
|  | P.<br>ON SYSTEM- VIDE<br>LL ABOVE GROUNI |                   | 5,555.00000            | 16,665.00    | 5,700.00000           | 17,100.00  | 6,880.92000   | 20,642.76   |
| 0660 0670 511<br>TRAFFIC CONTRO<br>F&I, NEMA                           |  | 1.000<br>AS       | 33,333.00000           | 33,333.00    | 34,300.00000          | 34,300.00  | 41,285.48000  | 41,285.48   |





# **Tabulation of Bids**

Page 18 of 19

| Letting:                | 03220609   | June 09, 2022      | Cal   | II Order: 001  |                                       | Contract:      | E3U63                  |              |
|-------------------------|--|--------------------|---|----------------|---------------------------------------|----------------|------------------------|--------------|
|                         | Line No / Item ID Alternate Item Description               |                    | Quantity (1) PANHANDLE GRADING & PAVING, INC. |                | (2) C.W. ROBERTS<br>CONTRACTING, INC. |                | (3) ROADS, INC. OF NWF |              |
| () indicates            | item is bid as Lump S                                      | Sum                | Unit Price                                    | Ext Amount     | Unit Price                            | Ext Amount     | Unit Price             | Ext Amount   |
| SE                      | CTION: 0003  | Signalization      |   |                |                                       |                |                        |              |
| UNINTERRU<br>FURNISH AN | 5 1 14<br>PTIBLE POWER SU<br>D INSTALL,<br>IBLE CONVERSIOI |                    | 10,065.50000                                  | 20,131.00      | 10,500.00000                          | 21,000.00      | 12,592.08000           | 25,184.16    |
| SIGN PANEL              | ) 3101<br>, FURNISH & INST<br>DUNT, UP TO 12 SF            |                    | 231.00000                                     | 1,848.00       | 240.00000                             | 1,920.00       | 289.00000              | 2,312.00     |
| SIGN PANEL              | ) 3201<br>, FURNISH & INST<br>MOUNT, UP TO 12              |                    | 456.58000                                     | 913.16         | 474.00000                             | 948.00         | 571.12000              | 1,142.24     |
|                         | ) 3601<br>, REMOVE, UP TO                                  | 4.000<br>12 SF EA  | 82.50000                                      | 330.00         | 85.75000                              | 343.00         | 103.21000              | 412.84       |
| INTERNALLY              | ) 522<br>ILLUMINATED SK<br>NSTALL, OVERHE                  |                    | 3,602.50000                                   | 14,410.00      | 3,700.00000                           | 14,800.00      | 4,507.00000            | 18,028.00    |
| WIGGIVI, 12-1           |  | on Section Totals: | I   | \$381,570.56   |                                       | \$395,442.25   |                        | \$476,612.59 |
|                         | Contrac  | ct Grand Totals:   |   | \$7,526,959.85 |                                       | \$7,994,380.01 |                        | 8,888,888.88 |



06/21/2022

**Tabulation of Bids** 

Page 19 of 19

**Letting:** 03220609 June 09, 2022

Call Order: 001

Contract:

E3U63

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.